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i2=-1,(1,®, ®?) are the cubic roots of one .

i, T , K)is aright set of unit vectors .
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@IfZ=(1+\/§i)nand 1Z| =8 |

then the principal amplitude

TS TN ) = o513
A=|El

: s AN At 6
of the numberZis ...... & saall Y ol
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C)Hﬂmmmmm%ﬁh—y+22+4=0,
X +2y + kz = 2 are perpendicular,
thenk=...................

£ sl O 13)
¢ o=t EYp o Y
Y_Ff &t vy m
............. =& OB poelaie
vO© =0

\ \
v O SN ©)
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@ Without expanding the determinant, s adslaad) S susadl &8 G s

solve the equation:
o o

1 x x .
e = [NV
x 1 x| =0
RS SRS
x x 1
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@Prove that the two straight lines:  etans] Ol Cedi

—_

n=@3,-1,2)+t,(4,1,3) and (reves) d(rav-cn=1

6 =(0’4 ’_1)+t2 (1’_1’2) (V c\—c\)vejﬁ—(\—cicjip):r‘;c

are skew. ol
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@ The number of ways of selecting a team of | 51 31 V 0§ 5s 325 Jlasl 3,k sue
7 members out of 9 girls and 5 boys, if the 5B O3 Y 0wl 4

team has 3 boys only equals ...... Loas oyl v e S5
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@The value of : *°C, + 26: STRA a2 o
=1 3 Ry Lot des
V=
equals ...................
q ............ gsj\.mi
@ 56c4 @ 56C2 Yuo'l iuo'\
55 55 00 00
@ Cy @ C3 ‘,U id
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@If x> +y*4+22—2x+4y =0 s eslST 13|
is the equation of a sphere of center C Ao =t e V=T e T
and radius 1, then ............ < ¢ LajS e 8,8 Aslae oo

............. OB ¥ Lo, lad Lo Jsbo
@ ¢ (1,-2,0),r = V5 unit by o v =g (LT =)t (D)
® ¢ (~1,2,0),r =5 unit by o v =12 ¢ (Lo YO o)t (@
@ C(1,-2,0),r = 5units Oldg0 =12 ¢« (Lo Y—cV)¢ @
@ ¢ (-1,2,0),r = 5units D30 =12 ¢« (Lo YA -) 0 (3)
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Answer only one of the following two questions: cdadB (el G (13l | i (8 i

8
AR - A .
A) put the number Z o3 I the ———— = \ =& sl aua (1)

ol gl o3 A1 S gl B
318y ol B s )
P e B AV Aol Y (©)

trigonometric form, then find its two

square roots in the exponential form.

B) Solve the following equation in C:
(x=1)°-9(x—-1)34+8=0

o =ht (V=) ="V =)
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Find all the different forms of the equation of | i35\ dalz s )l s g
the plane passing through the points:

1,0,0),(0,2,0),(0,0,3). é

¢ (J.Lacv‘}fv.,a) [4 (J.é.gacj.&.gac\)

(¥ ¢ yao ¢ y0)
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@ Investigate the possibility of solving the
following system and find the general form

(2)

of the solution (if it exists).

2 —4 =9\ ,x
3 D)0)-
-3 6 9 z

(3 00 1 o4
\ o\ A g Y
2 | =1 u° L
\- ¢ q T ¥-
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@If Z = w*, where x is a positive integer, To=g o813

IR O N
............. TR

@1 ® o @) @
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@ If the direction angles of a straight line P s o251 Ll <o\ 13
are: 0y , 0, and 0, ,then ‘ f,6 ¢ B 6
L2 .2 L2090 N Y Yoo
sin“ 6, +sin® 6, + sin“ 6, =......... o _ée\?jLuoe\%_ere\?up

@ -2 b -1 - © v— (D
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If O 131
Li:x

=2t1_1,y: t1+1,Z: tl_l,

‘\—|—\€J=ud ¢ \—\GJ‘(:U‘:\QS

and Ry er
Lyx=at,—=1,y=2t,+1,z=bt, -2 \
are parallel , thena+b = ................. ARICAS \_rejP=W:vJ {
Y- do=¢
........... = + P OB e e

@4 ® 2 r @ 30,
©6 @ -2 O S,
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15

@ In the expansion of (i + xZ) according to | cee (Yot ) 8 K &
N -

the ascending powers of x , find the value of | .3 Ao damgl Lasladl o 653

the term free of x, then find the value of x B e “"'ﬁig'j e
which makes the two middle terms equal. ¢
9 o olcts pdew oY) il e
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The number of terms in the expansion of : : 3 S| s 9u sue
after reductionis ............ | o Ll i

@ 1010 (® 1009 Y@ v (D
©) 2020 @ 2019 roa () vy
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then ||AC|| = .. o+ P =T
............... = =Pl ob
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@418 . 41C CZALT SLTs
,B =(2,3,2),C =(1,2,1), (VY )= (Tere)=5
||Z|| = 4+/2,then 4 =... =T

.................. — 7ok

® (2,3,1) (verev)y D
b (—4,0,4) (¢ e ct—) @

r19/0-1A Joll joaJl - A=alpoll Aulhhl) A A uj



Yo/ Yo AN Gl 5l plall - J 531 5 9ut8) - (2 ooy 31 AR ) At ol Al g il - bt 2 93120 el 5ol AL Bl lomchel

Answer only one of the following two questions: | ,saza o 311 (815 i (e e
A)IfA(0,0,].),B(1,0,0)andC(0,1,0) 13 (\cMcM)PQK\D!(‘()

, find the orthogonal unit vector to the (e o)) o

plane ABC. (S22 eV i) =

SR (83508 B9 Ancte : e gl

B) If the two spheres:

(x+1)? +(@y—4)2+(@z-k)?=25,
(X—3)2 +y2 +(Z—3)2 =\ 6 g‘.’?ﬂ\w\;bl(u)
are externally tangential, find the value of k. | « To="(&-&)+"(¢-02)+ (\+)

V="(r-g) + et (Y- )

EJ 5@.-5-.\‘?}; CJ\"“U'A 'W: \.Q:;ﬁ
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